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(1)  n=2 の時のエネルギーなので 

l=0 → 𝑚𝑙 = 0 
l=1 → 𝑚𝑙=-1,0,1 
従って三つ。 

 
(2)  (略) 

5.30×10−11 (m) 

(3)  𝐿2̂𝜓(𝑟, 𝜃, 𝜙) = −ℏ2( 1
sin 𝜃

𝜕
𝜕𝜃 (sin 𝜃 𝜕

𝜕𝜃) + 1
𝑟2 sin2 𝜃

𝜕2

𝜕𝜙2) 𝑟
√32𝜋𝑎0

5
𝑒− 𝑟

2𝑎0 cos 𝜃  

= −ℏ2( 1
sin 𝜃 cos 𝜃 𝜕

𝜕𝜃 + 𝜕2

𝜕2𝜃 )
𝑟

√32𝜋𝑎0
5

𝑒− 𝑟
2𝑎0 cos 𝜃  

= −ℏ2 𝑟
√32𝜋𝑎0

5
𝑒− 𝑟

2𝑎0 {− cos 𝜃 − cos 𝜃}  

= −ℏ2 𝑟
√32𝜋𝑎0

5
𝑒− 𝑟

2𝑎0 {−2 cos 𝜃} 

= 2ℏ2𝜓 
また、 

𝐿̂𝑧𝜓 = −𝑖ℏ 𝜕
𝜕𝜙 𝑟

√32𝜋𝑎0
5

𝑒− 𝑟
2𝑎0 cos 𝜃 

= 𝑖ℏ 0 𝑟
√32𝜋𝑎0

5
𝑒− 𝑟

2𝑎0 

従って固有値 0 の固有関数 
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(5) < 𝑟 >= ∫ ∫ ∫ 𝜓∗ 𝑟 ̂𝜓 𝑑𝜏 = ∫ ∫ ∫ 𝑟3
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となる。 


